tan (l+sina)+sina/tan (1+sina)-sina=tana+sina/tanasina
[tana (1+sina)+sinal / [tan (1+sina)-sina] = (tana+sina) /tanasina

HR:

/321 = [tana + tanaesina + sina] / [tana + tanaesina - sina]

= [1+sina + cosa]/[1+sina - cosa]

=[1+sina+cosa)?/[(1+sina)?-cos?a]

=[1+1+2sina+2cosa+2sinacosal/[2sin2a+2sina]

=[(1+sina)+(cosa+sinacosa)]/sina(sina+1)

=1/sina+cosa/sina

=(1+cosa)/sina

=(tana+sina)/tanasina = 473l

X B Etanaz0,1+sina+cosaz0.

Ytana=0lfa=npi, =X 7EEN0, TR L, [Hiktana#0

Msina+cosa=-1, PIAT-J5, sin2a=0, a=npi/2, nNMHES, tana=0, L= X, nAZETEH
n=2k+1, [Kltba=(k+1/2)pi, MBI+ 08395 K, TTE X, Fitl+sina+cosa#0
Frbh, Fili=4i, Ror.



